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1t 7l 0.005 | 0.004 | 0.005 | 0.006 [ 0.005 | 0.005 | 0.005 [ 0.005 | 0.002 | 0.002
Je W& | 5] 0.006 | 0.006 | 0.007 | 0.007 | 0.006 | 0.006 | 0.005 [ 0.005 | 0.005 | 0.005
B =7l 0.006 | 0.006 | 0.008 | 0.008 | 0.007 | 0.006 | 0.006 [ 0.004 | 0.003 | 0.003
it} % Frl 0.005 | 0.002 | 0.003 | 0.003 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.002 | 0.002
e B % prl 0.006 | 0.006 | 0.003 | 0.003 [ 0.003 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.002
W E B A 2 E #8 0.005 | 0.006 | 0.007 | 0.007 | 0.006 | 0.006 | 0.005 [ 0.002 | 0.002 | 0.002
e % ] 0.004 | 0.004 | 0.005 [ 0.003 | 0.002 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.002
woa % & 0.004 | 0.004 | 0.004 | 0.002 | 0.001 0.001 0.001 0.002 | 0.002 | 0.001
it B 7 H — — — — 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003
%%ﬁm}vd‘?& 0.004 — — — — — — — — —
g1 H o T/ — 0.004 | 0.006 | 0.005 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.001
il il % Firl 0.005 | 0.005 [ 0.006 | 0.006 | 0.005 | 0.005 [ 0.002 [ 0.002 | 0.002 | 0.001
E B filrvs o s 0.004 | 0.004 | 0.005 | 0.005 [ 0.004 | 0.005 | 0.005 | 0.002 | 0.001 0.001
JIl v Tl % Frl 0.003 | 0.004 | 0.004 | 0.005 | 0.004 | 0.005 [ 0.005 | 0.005 | 0.004 | 0.004
= W |H % Frl 0.003 | 0.003 | 0.004 | 0.004 | 0.003 | 0.001 0.001 0.002 | 0.001 0.001
7S 7] 0.004 | 0.003 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | (0.003) —
W #H 0.006 [ 0.005 | 0.006 | 0.006 | 0.005 [ 0.003 | 0.003 | 0.003 [ 0.002 | 0.002
T 0.003 | 0.002 | 0.003 | 0.003 | 0.002 | 0.002 | 0.003 | 0.003 — -
5 41 0.003 | 0.002 | 0.003 | 0.003 [ 0.002 | 0.002 | 0.002 | 0.003 — -
o o @l 0.007 | 0.003 | 0.004 | 0.004 | 0.003 | 0.004 | 0.003 | 0.004 | 0.004 | 0.005
P Hl 0.005 [ 0.005 | 0.003 | 0.004 | 0.003 | 0.003 | 0.003 | 0.004 — -
Hh o Fﬁzﬁ & 0.005 | 0.005 | 0.006 | 0.006 [ 0.005 | 0.003 | 0.002 | 0.003 — -
H )| +1 0.003 | 0.003 | 0.004 | 0.004 | 0.004 [ 0.004 | 0.004 | 0.005 — -
Eig &l 0.005 | 0.004 | 0.005 | 0.006 | 0.005 | 0.005 [ 0.005 | 0.005 | 0.005 | 0.004
fiic] #] 0.002 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.002 | 0.002 | 0.002 — -
i il 2] 0.003 | 0.003 | 0.003 | 0.004 | 0.004 [ 0.003 [ 0.002 [ 0.003 — -
it 0.004 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 — -
1t #1 0.002 | 0.002 [ 0.003 [ 0.003 | 0.002 | 0.002 | 0.003 [ 0.004 — -
NBETAZ7 UK — — — 0.005 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.004 | 0.004
+ | 0.006 | 0.006 | 0.008 | 0.008 | 0.006 [ 0.003 [ 0.003 | 0.004 | 0.004 | 0.003
S/ I s 1 ] 0.006 | 0.005 [ 0.006 [ 0.007 [ 0.005 | 0.003 | 0.003 | 0.003 | 0.003 | 0.002
PN IN ] 0.005 | 0.002 | 0.003 [ 0.003 | 0.002 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.002
T & HW7{my % 1 0.004 | 0.004 | 0.004 | 0.005 | 0.004 | 0.002 [ 0.002 | 0.002 | 0.002 | 0.002
£ % n7|my % 1 0.004 | 0.004 | 0.005 | 0.005 | 0.004 | 0.005 [ 0.005 | 0.005 | 0.004 | 0.002
it} % Firl 0.005 | 0.004 | 0.006 | 0.006 | 0.005 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002
J& F] 0.006 | 0.005 | 0.006 | 0.007 | 0.003 | 0.003 | 0.003 | 0.004 [ 0.003 | 0.003
= 7 N B BEl 0.004 | 0.004 | 0.004 | 0.005 | 0.005 | 0.004 | 0.004 | 0.002 [ 0.002 | 0.001
| JFl 0.006 | 0.006 | 0.006 | 0.007 | 0.006 | 0.003 | 0.003 | 0.003 [ 0.003 | 0.003
i B 0.004 | 0.004 | 0.005 | 0.005 | 0.005 [ 0.005 [ 0.005 — — -
W piii ] 0.004 | 0.004 | 0.005 [ 0.005 | 0.005 | 0.005 [ 0.005 | 0.005 | 0.004 -
= | 0.004 | 0.003 | 0.004 | 0.005 [ 0.001 0.002 | 0.002 | 0.002 | 0.002 | 0.001
R *% Fiil 0.005 | 0.005 [ 0.005 | 0.005 | 0.004 | 0.002 | 0.002 [ 0.002 | 0.002 | 0.001
W Tl % Fil 0.002 | 0.002 [ 0.002 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
J\ 1 0.005 [ 0.005 [ 0.005 | 0.005 | 0.005 | 0.004 | 0.001 0.001 0.001 0.001
Ji fHl 0.006 | 0.005 | 0.006 | 0.005 | 0.005 | 0.005 [ 0.002 | 0.002 | 0.002 | 0.002
fiff & 0.005 | 0.004 | 0.006 | 0.005 [ 0.002 | 0.001 0.001 0.001 0.001 0.001
H = 0.005 | 0.004 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.002 [ 0.002 [ 0.002 [ 0.001
(S vl P Bl 0.004 | 0.004 | 0.004 | 0.004 | 0.004 [ 0.004 [ 0.004 | 0.003 | 0.003 | 0.003
ik J1 0.003 | 0.003 | 0.003 | 0.003 | 0.002 [ 0.002 [ 0.002 | 0.002 | 0.002 | 0.003
fiff gl 0.004 | 0.004 | 0.004 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& &l 0.004 | 0.004 | 0.004 | 0.004 [ 0.004 | 0.001 0.001 0.002 | 0.001 0.001
K Hl 0.003 | 0.003 [ 0.003 | 0.001 0.001 0.001 0.001 0.001 0.001 0.001
K W7|my % P 0.005 | 0.005 | 0.005 | 0.002 | 0.001 0.002 | 0.001 0.002 | 0.002 | 0.001
7= oD | % Frl 0.003 | 0.003 | 0.003 | 0.004 | 0.003 | 0.003 [ 0.004 | 0.004 | 0.004 | 0.004
O | % Frl 0.003 | 0.003 | 0.004 | 0.002 | 0.002 | 0.001 0.002 [ 0.002 [ 0.002 | 0.001
Jr B il % Frl 0.005 | 0.004 | 0.004 | 0.005 | 0.004 | 0.004 [ 0.004 | 0.005 | 0.005 | 0.005
¥l JE] 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.001 0.002
G % Al (0.003)| 0.003 | 0.003 | 0.003 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 [ 0.002
WA % Frl 0.004 | 0.004 | 0.005 | 0.006 | 0.005 | 0.005 | 0.002 | 0.002 | 0.002 | 0.002
N 5] - 1 0.004 | 0.004 | 0.004 | 0.004 | 0.0035 | 0.003 0.003 | 0.003 | 0.002 | 0.002
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